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‧特性數據
Efficiency vs. Line
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Average Efficiency
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Average and 10% Efficiency at 115 VAC Input
VOUT = 5 V 






 VOUT = 9 V
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VOUT = 15 V 






 VOUT = 20 V
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Average and 10% Efficiency at 230 VAC Input

VOUT = 5 V 






  VOUT = 9 V
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VOUT = 15 V 






  VOUT = 20 V
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VOUT = 20 V
CV/CC
VOUT = 5 V






  VOUT = 9 V
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VOUT = 15 V






 VOUT = 20 V
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Thermal Performance
90 VAC Input 20 V, 3 A at 26.1 ºC Ambient

90 VAC Input 20 V, 3 A at 45.2 ºC Ambient
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115 VAC Input 20 V, 3 A at 45.2 ºC Ambient

265 VAC Input 20 V, 3 A at 42.9 ºC Ambient
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Load Transient Response (On the Board)
[image: image19.png]90 VAC, 5.0V, 0 -3 A Load Step.

Vmm 5.001 V, Vmax: 5.196 V.
Upper: Vour, 0.2V / div., 5 ms / div.
Lower: I oap, 1 A/ div.

Upper Vwr,OZV/dlv Sms/dlv
Lower: Ijonp, 1 A/ div.

90 VAC, 9V, 0— 3A Load Step.
Vit 8.995 V, Vagax: 9.195 V.

Upper: Vour, 0.2V / div., 5 ms / div.
Lower: Ijonp, 1 A/ div.

265 VAC, 9V, 0 - 3 A Load Step.
Vit 9.003 V, Vyax: 9.19 V.

Upper: Vour, 0.2V / div., 5 ms / div.
Lower: Ijgap, 1 A/ div.

90 VAC, 15V, 0 3 A Load Step.
Vumy: 14.983 V, Vuax: 15.189 V.

Upper: Vour, 0.2V /
Lower: Ionp, 1 A/ dit

265 VAC, 15V, 0 -3 A Load Step.
Vit 14.983 V, Vyay: 15.184 V.
Upper: Vour, 0.2V / div., 5 ms / div.
Lower: I oap, 1 A/ div.





[image: image20.png]90 VAC, 20 V, 0 — 3 A Load Step.
Vmn 19.974 V, Vuax: 20.234 V.
Upper: Vour, 0.2V / div., 5 ms / div.
Lower: Ijonp, 1 A/ div.

265 VAC, 20V, 0 - 3 A Load Step.
Vmm : 19.997 V, Vmax: 20.211 V.
Upper: Vour, 0.2V / div., 5 ms / div.
Lower: Ioap, 1 A/ div.
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